F21RARBTSYY 10F04A— h)b%?SO#&iﬂ’:v

BfL i K4 t)]J:’svr_/.\ FAEY>74 __R% F i
1. 6154 %M % . 0:36:34 FAEH—YFERC BARE 53
2. 621558 &I 0:37:42 K#HZATRC FEE 56
3. 6106 BER 1= 0:38:43 EHERC TR 50
4. 6130 A &5 0:39:18 BARIAKEERE FHE 52
5 614393 BAE 0:39:22 2DFEH5T BEE 52
6. 622011k =i 0:39:54 FHEE 56
7: 6175378 & 0:39:59 A4 LiA—/N—X EiHE 54
8 6108FER FN=E 0:40: 28'7\//\"J:L—RC EE 50
9 6249 /\NFp #E— 0:40:33 | ;B s MHEE 57
100 61841/ &0 0:40:36' FEE 54
11 615210 == 0:40:58 P R T i 52
12 6158 A %NER 0:41:30 EHE 53
13. 628458 IF 0:41:49 I EFET EE 59
14 6101 {kfkE Fait 0:41:58 FFFTEETSD  HMHE 50
15 6161354 1F 0:42:22 FXEALSDYZT MHEE 53
16 6129 A &— 0:43:03 > ~5)LFIHA AR 52
17 6146 F4HA =% 0:43:21 AR 52
18! 6155FH %% 0:43:39. FAEE 53
191 6119 EE &5 0:43:48' EHE 51
20! 6265 215 FE 0:43:513A]30LSD FEHE 58
211 6191 /NE =i 0:43.58 RIEERDE MEE 55
22, 6236 22 BE 0:44:11 FEE 57
23 6157 §EE =P 0:44:21 ) —4> MEE 53
24 6229 &F E— 0:44:25 KIMIBEEITE #EAR 56
25 6230k HiE 0:44:31! EE 57
26 61925 H {E— 0:44:53 v IL945 EHE 55
27 6198{kEE 1= 0:45:00 #EALSDY ST MHEE 55
28 6113 LM H— 0:45:08 L ¥ A H EE 50
29 6107 &% HFHF 0:45:19 4K S HE5& 5 MAE 50
30 6243 %0 FN=E 0:45:26 kb N—E& FEE 57
31 6280 KL EE 0:45:29' MHEE 59
32 612438% =H 0:45:33 EEXEREFBO EFE 51
33 62001E%F ZE . 0:45:34 FILCY FEE 55
34, 6156 A% BEABR | 0:46:19 BERHEY)I MEHE 53
35, 6253 7EfkE FME | 0:46:19 MEE 58
36 6126 21F BH 0:46:31 REEXHFHRC EE 51
37, 6179 R K FA 0:46:39  HR AN BE 7 BEEE 54
38 6208 FkL %% 0:46:39 KET FHEE 55
39 6244ikHE R— 0:46:42 MHEE 57
40 62318 BX 0:46:48' FEHE 57
41 6211 {RiE &5 0:46:52 F9 48 5o bk o 28 MHEE 56
42 6177 Fafk #1T 0:47:00 FHAE 54
43 6232 518 Hif 0:47:07. OJV)wF BB 57
44 6241 1FH FHik 0:47:19 AR 57
45. 6160 FH rEfrFE 0:47:20 A HFE+FHEkE  EE 53
46 6193 51 A& 0:47:20 KFBI/NER  FEHE 55
47 6205 iR RS 0:47:20' EHE 55
48 6273k EEF 0:47:34 EHE 58
49 6272 1FK HE 0:47:42 AT Tv5 EE 58




F21RARBTSYY 10F04A— h)b%?SO#&iﬂ’:v

B £ wire K4 ’GJJJ:94L\ FAEo27% | B4R E&
50 6115 548 PUER 0:48:01 =Y/\RC HBER 50
51 6277 7R1F EA& 0:48:06 FEE 58
520 6283I/h\E EFk 0:48:14:SCRELD & MHEE 59
53, 6209 KAR H 0:48:18 & I [E1H FIEHE 55
54. 6250548 AFE | 0:48:38 BFE 57
55| 6212{kfE EFRER @ 04845484 FHAE 56
56 62108141 XXk | 0:49:00 =2FE 55
57. 619444 K fNk 0:49:13 RIEEZEFMRC MEE 55
58 6149 Hth Fit 0:49:14 BEHE 52
59 6142/ 8BH% E 0:49:26 B4 LiA—/N—ZX =B 52
60 6233{ERAK 1# 0:49:30 FEHE 57
61. 6147 5% IIE 0:49:31 184 LA —/IN—X [ BiFE 52
62! 6282 KH Bif 0:49:44 EE 59
63 6117 =@ IF 0:50:09' FAEE 51
64 6204t F BK 0:50:12' EFE 55
65! 6195 ragan dave 0:50:16 AR 55
66: 6213 kR R— 0:50:26 P FEESR AE 56
67 6199 {EAK E 0:50:28' E=F8 55
68 62284 th 1# 0:50:29 P KYFEASE  HMHEE 56
69 6128 B[R & 0:50:35 KRIEFHEE =EFR 51
700 6165 {EfE & 0:50:39 FEEFRC EE 53
710 6226 fERK XRE 0:50:39 M HSH FEE 56
72 6219 KR EEB 0:50:47 JRES 15 FHiRE 56
73 6167 Ljk ﬁm 0:51:04! FEHE 53
74 6162:!HA%F BE 0:51:06' BHE 53
75 6104 MEBA IE 0:51:14 FAEE 50
76  6121:[FWG EA 05115 BI/KREER | BFE 51
77 6225k @EIE 0:51:23 [EEMIRERE #HE 56
78 6190 {k@E A 0:51:56 HIZ5F—X AR 55
79 6132{kfk FHE 0:52:13! FEE 52
80 6214 FH Bk 0:52:15 BHEDOZBALE FUEHE 56
81: 6174/ HE & 0:52:16 BEFR 54
82 6189 HH FF 0:52:20! FEE 55
83! 6196 ik &AL 0:52:38/\ JOR—RC FEE 55
84 6262 Kk = 0:52:45 BAHET FEE 58
85 62035k B3 0:52:57 PEERE NS 55
86 6134 ;R BE 0:53:05 EE 52
87! 6267 2R FE 0:53:09' FAE 58
88 6171 fhlE FN5B 0:53:12; HARE 94
89 6257 Bk F5 0:53:21! FEHE 58
90 62423 BE{E 0:53:44 L ASE BRE 57
91 6103k =7 0:53:45 7 E Rk EF8 50
92 6141 54 HBE 0:53:51 At T & PR BB 52
93. 6116 HFt R 0:54:08 74 7> A KHf FEHE 51
94 61820 1& 05413 I T FAAY AR 54
95: 6218{FiE Z— 0:54:18 ¥AERC A= 56
96 61641{ERAK & 0:54:37: B A JR BA AR 53
97 6151 8kMA &EF 0:54:53 M HENERS MHE 52
98 6255/ =4t 7% 0:55:00! BER 58




F21RARBTSYY 10F04A— h)b%?SO#&iﬂ’:v

B £ wire K4 t)]J:’Svr L FREYZ7& | BR  EH

99: 6201 2l BFE | 0:55:27 FEE 55
100 62358 7 0:55:29 FEE 57
101 6227 #H AX 0:55:33' BEE 56
102: 6159 [FHE F& | 055411 0VYFA FUEHE 53
103 61454c4<K Bk | 05550 AR 52
104 6258 A ZT|IT | 05559 AvyHR ESE 58
105 6251:85K & 0:56:05' EE 57
106 6266 4 H— 0:56:09 #t DEBFE WS =15 58
107 6261 EiE fE— 0:56:27 AR 58
108! 613322 B 0:56:29 4 4 F3v5S FEE 52
109 6125/ /Nfk % 0:56:47 BiHE 51
110 30207 =48 B— 0:56:51! EFE 54
111 61831{ER K #)— 0:56:55' EE 54
112 20243 0k = 0:57.01 ¥R EBEENE E?¢’—‘JII 55
113 6186 &M FA 0:57:07 MHEE 54
114 6263:4%EH IFE 0:57:07 EE 58
115! 6136248 Xi& 0:57:11 FAE 52
1161 6252 %] = 0:57:37. G 58
117 6172/ L& BH= 0:57:45' MHEE 54
118 6169 jNgE —EB 0:58:04 1LLVDH LY HEJIE | 53
119 6170 kR A 2 0:58:07 HEW IR ES MEE 53
1200 6105i{kfE —k 0:58:13! L fHIRC FEE 50
121 6285 F #17 0:58:27 EtHES HBEE 59
122 6276 INEH BFR 0:58:56' FEHE 58
1231 6207 Kk BUE 0:59:02 FS> - S BERHE 55
1241 6131 {642 A Rl 0:59:11 AR 55T FEE 52
125 61853 a fli— 0:59:33 SMAP dtiEE 54
1261 6246 fRF {54 0:59:39' EE 57
127 6271 =8 I1EBH 0:59:57' ESt 58
128 6180 AH 1T 1:00:06 FEE 54
129 6197 M & 1:00:19 EFE 55
1300 6217 &R EIT 1:00:27 FNEHE 56
131 6224 58<F ASF 1:00:29 BERE 56
132 6223 /cH F— 1:00:48 FEE 56
133 6148 KM & 1:00:55 FILEH FUEHE 52
134 6238 b4t HH 1:01:05 WY =it 57
135! 61534 H BB 1:01:07 A AEFIF  MAR 52
136 | 6239545 {£EH 1:01: 11 HOPERES ERE 57
137 : 3020885 A t{&{H 1:01:28. BiE 51
138 6135 &R HH 1:01:33 A AR FEHE 52
139 6114 T RBE 1:01:49 AEE 50
140 6240 =48 XA 1:02:02! FHAE 57
1411 6275 & F IF{E 1:02.14MHEERE FUEHE 58
142 6237 H{h FOEB 1:02:38 MEE 57
143 6202:#% HE 1:03:27. AR 55
1441 6248 /ML Hik 1:03:32. FEE 57
145 626058k T= 1:03:42: B A7k—LRC = 58
146 | 6245 EAK RIS 1:04:08 LT X® =1 57
147 6259 /MAHA EX 1:04:18 FFNEHBHE AR 58




F21EERMISYVY 103¥O0A—RLBF50E £ |

B 6L s K4 YESAL FREYSIR | BR
148 6123 EJR IEHX | 1.0452 REAEMER ERE 51
149 . 6264 #.F BH . 1:05:05 FmE 58
150 6216:=ZH FEB} = 1:05:35 EHE 56
151, 6120248 %&=& | 1:0548 #Fhi&m MHEE 51
152 6102 4@ fBE | 1:.06:34 FETEETF AE 50
153 6270 fEM —IF | 1.07:16 EHE 58
154 6110/F1U ;& . 1:07:25 Velvo =FE 50
155 6144 fE8 —=2B1 | 1:07:39; EE 52
156 | 30201 & F & . 1:08:44: SAROMA BEE 57
157 62563+ & 1:09:43 FNAE 58
158 | 6178 4B+t 3 1:12:02 BEHE 54
159 6281 /R FEE 1:12:33 EL 59
160 6140 A & — 1:13:40! AFE 52
161 6176/ FAK FE— 1:14:04! FEE 54
162 6111 M fEHA 1:14:58 HRE 50
163 6137 A8 = 1:15:35! EE 52
164 6166:FH EH 1:17:38 A LA —/N—R =B 53
165! 6118 L8 HiE 1:21:03 FLEHLSD FAEE 51
166 6221 &S S 1:32:0115250957 EE 56
167 . 30205 F % T 1:40:13 H D EW S = 58




